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Change by Natural Selection
4 Components of Change—V.I.S.T
	1. V= _______________
	2. I= ___________________

	3. S= __________________
	4. T = ___________________


Artificial Selection
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Rabbit Population Change
	
	
	





Main Ideas 
 Evolution
     Rabbit Example           What kind of changes do you think will happen to this population of rabbits?  

                                        Explain how these changes will occur: 

                                         The rabbits that are ______________ are more likely to survive and reproduce because _____________________________________.  The rabbits that are _________________ will slowly die off because _____________.  Because of this, slowly over time the majority if not all the rabbits will be ____________________.
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Nature Selects          __________________________________________________ good for the new environment -       

                                          leading to change in how the species looks/behaves or extinction                                                            

                                     __________________________ = ______________________________________




           How Do Species Adapt
 Organisms ________________________________ to their environment

                           ____________________________________________________________________________________

                           Individuals with the right traits for their environment reproduce and you see more of them

                           Individuals who do not have the right traits die and you see less individuals until they are all gone

Bird/Rat Questions      How did this environment change?

 

                                     Which mouse trait (phenotype) is most likely to survive and reproduce? Why?

 

                                     Did the change in the environment change the look of this species? Explain.


    Survival Of The Fittest   Survival of the fittest is not about being the biggest and strongest it’s about having the _______________  

                                         ________________

                                        Fitness = ____________ + ______________

                                         -Low fitness =dying and leaving few offspring





*do not pass on your genes 

                                        -High fitness = __________________________





*pass on your genes

Name: __________________


Period: ______ 





TIME





TIME








